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PART-A (ENGLISH)

idioms and phrases
1 .Out of the blue
A Something unexpected B. something expected

C From clouds D. From the sky

© He was murdered in cold blood.
A thoughtlessly. B. deliberately
¢ unfeelingly. D. coolly

3 To keeps one’s temper

£ To be in good mood B. To become hungry K/

C To be aloof from. D. to preserve ones energy

4 Crocodile tears:

A Very angry. B. Insincere tears




C. Very Sad D. true tears

5.To hold somebody to ransom :
A. To humiliate somebody. B. To keep captive and demand concession

C. to offer bribe. D. To blackmail and extract money
6.choose the correctly spelt word.

% A.Example. B. Example =

C. Exemple. D. Exampal

7.Spot the correct spelling

A. Comittee B. Commitee

C. Committey. D. Committee

,{(B.Find the correct spelt word.



i

A Defference
B Defferance
C. Deference

D Dafference

9 Choose the correct spelt word out of the given alternatives.

A Puerrile
= Puerile
C Puerile

D Purrile

4 1 n.Choose the correctly spelt word.

5 Gramatic B. Grammetic. C. Grametic. D. Grammatic

1. Synonym of ABANDON

A Forsake. B. Keep with C. Join. D. Try

12 CHALLENGES :

. fears B obstacles. C questions. D conflicts
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13. GRATUITY

A. disadvantage b. tip C cash. D pain

14. FRAGILE

A strong B big C delicate D injure

15.BOTHER

A Calm B delight C affect D sorrow '

GIVE ONE WORD :
16 Something that can be carried easily

A. Relatable B. Portable C. Cartable D. Potable

17 A former student of a school, college or university

A. Genius B. L.earner C. Scholar D. Alumnus
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18 Feeling a gu”t

A.recu i
peration B. refulgence C. remorse D. reparation

19 A drawing on transparent paper

A Red print

B. Negative

C Blue print

D Transparency

20 Introvert
A One who is from city

B One who is from village

C. One who does not express himself freely.

=5 D One who express himself freely

51 Vikram Sarabhai read about the achievement of great scientists. This

shows that he

4. Was fond of books

h. Liked scientists

¢ Did not like to waste time

d. Has great interest in Science

2o Why did Vivekanand go to America ?
a. The Americans had requested him to come over there

b. He wanted to fulfil the desire of Sri Ramakrishna
c. He wanted to spread Hinduism



d. He wanted to study the principles of other religions.

23The reverse of ‘Barbarism’ is
a. Civilization b. Selfishness c. Violence d. Generosity

24 The beggar maid appeared before the king g
a. Bare footed

b. Sad faced

c. With a cheerful look

d. Like a queen

.25. God moves in a mysterious way _ e
a. To teach a lesson to man

b. To do wonders.

c. To show him strength

d. To help man

26 We must get up early in the mornmgThe word “early’ is
A. An adverb b. Averb c.An adjective d./A noun

27Why Pramukh go to I\/Iysovre yesterday ?

A.Did b. Does ¢. Do d. Was

28. Fill in the blank with a suitable article: Bhuvana is
honourable lady

A)an b) a c) the d) only

/\ 28 The word that takes the prefix ‘un’is

a. fortune b. respect c. done d. understand
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Metapho S
phor b, Personification ¢, Simile d. Alliteration

a0 Fillin th '
| fackeier] e blank with the appropriate tense form of verb given in
: (meet) my friend yesterday.

A met

B meeting
C have met
D Had met

FE=ADING COMPREHENSION;

The Indian Premier League (IPL) is a professional Twenty20 cricket
league in India contested during April and May of every year by 8 teams
representing 8 cities of India. The league was founded by the Board of
Control for Cricket in India (BCCI) in 2008, and is regarded as the
brainchild of Lalit Modi, the founder and former commissioner of the
lcague. IPL has an exclusive window in ICC Future Tours Programme.

-4 The IPL is the most-attended cricket league in the world and in 2014
ranked sixth by average attendance among all sports leagues. In 2010,
the IPL became the first sporting event in the world to be broadcast live
on YouTube. The brand value of IPL in 2018 was US$6.3 billion,

4 cording to Duff & Phelps. According to BCCI, the 2015 |PL season
contributed 11.5 billion (US$182 million) to the GDP of the Indian

economy.

There have been eleven sea

title holders are the Chennai Super Kings, who won the 2018 season.

Read the passage and choose the most appropriate option

031. Indian Premier League is considered whose brainchild?

sons of the IPL tournament. The current IPL

R



a) Lalit Modi
b) Nirav Modi
c) Vineet Jain
d) Mukesh Ambani

Q32. How many seasons have been played of IPL till 2018?

a) 10
b) 12
c) M
d 9

Q33. What is the antonym of the world “professional” w.r.t it's usage in
the passage?

a) Competent

b) Amateur
c) Master :
d) Polished

Q34. In which year IPL became th"e’ﬁrgt As"por‘ting event to be broadcast

live on an online platform?

Q35. According to Duff & Phelps, the brand value of IPL in 2018 was

a) 311.5 billion

b) US $182 million
c) < 6.3 billion

d) US $6.3 billion
Passage 2

Th.e 543 elected MPs will be elected from single-member coh§tituencies
using first-past-the-post voting. The President of India nominates an

additional two members from the Anglo-Indian community if he believes
the community is under-represented.

Eligible voters must be Indian citizens, 18 or older, an ordinary resident
of the polling area of the constituency and possess a valid voter
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l toral s ,
ed of eloctoral or othor offoncos are barrad from voting.

Earlier there |

énivznnctg‘;al\g \:;Vg;g Sl)Oc;l!I’mIc)ns that the Modi Govarnment might

taclor. howevér I(Vgoino:(.ll ol’octlon lo countor the zmti-inoumbonpy

made by the Ve ;arn ng from‘ Its past blundor of preponing eloction

(hesiorinal ajpayee Government it decided to go into election a9 per
Mmal schedule which was announced by Election Commission of

ndia (ECI) on 10 March 2019, after which Model Code of Conduct was
applied with immediate effect.

Read the passage and choose the most appropriate option

36. Which word or phrase means “disapproval of current political
officeholders” in the passage

First-past-the-post
Blunder
Anti-incumbency

Model Code of Conduct

037 Since when was the Model Code of Conduct applied with
immediate effect?

23rd May 2018
10th March 2019
10th March 2018

11th March 2019

38 When does the President of India nominate an additional two
members from the Anglo-Indian community?

When there are less than 543 elected MPs
. When the Anglo-Indian community fails to send a representative

When the president believes that the Anglo-Indian community is
over-represented

When the president believes that the Anglo-Indian community is
under-represented

039, What are the mandatory requirements to vote in India?



i, Must be an Indian citizen

ii. Must be18 or older

lii. Must have a valid criminal record

iv. Must be an ordinary resident of the polling area of the constituency

v. Must possess a valid voter identification card issued by the Election
Commission of India

@
Choose the correct options
A. (i), (ii) (iii)(iD)
B. (i) (v) (iv)
~C. (i) (i) (i) (iv) (v)
D. (i) (iii) (iv) (v)
Q40. What is the apt meanlngofSpeculatlons‘ as per the passage?
A. Conjectures o
(W

B. Assumptions
C. Either (a) or (b)
D. Both (a) and (b)

Select the best word for the blank in the following sentence.

41) They decided that leaving for Vancouver tomorrow
a) Are |
b)  Their

c) they're

d) there

42) Which of the following sentences is grammatically correct?
a) It was too cold to go swimming in the ocean.

b) It was to cold to go swimming in the ocean

¢ It was the cold to ao swimmina in the oceal‘m
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=3) Which of the fo

= llowing senten -

;,} :SSIe left as QUICKTY ag posztlats)lgontams a direct object?

o nr(n ate the brownije before leaving.

4l 1Ke Ca!led, but Nobody answered.

,-~"|) . Il:k arrive to class late,

3 Himendnx became angry if there was garbage in yard.
B Her

C Their

Q; his

4;) Which of the following sentences is grammatically correct?
al Made with love, the meal was absolutely delicious.

b) Made with love, it was absolutely delicious the meal.

C) Made with love, Henry really enjoyed the meal.

aj

Made with love, enjoyed the meal| Henry did.

46)First, he’s visiting London and then he
Travelled

@) would travel
e} will be traveling
d) has travelled

to Scotland.

e

Which word is used incorrectly in the following sentence?
47)We got a really great deal on ours car!

al We

bj Got

c; Really
d, ours

48) Which of the following sentences contains sexist language?
) Tammy and Rick are both accompllshed authors.
i/‘ Brianna is beautiful and Allan is intelligent and successful.
} i ' ' hool.
Lina always did very wgll in sct
gl; Hank and Tom are starting their own company.

Salect the best word for the blank in the following sentence.

49) The new mayor seems ready to make some big changes.
a) Cit—r



b) City
C) Cities
d) city's

The following sentence contains which type of phrase?

50) | really didn’t enjoy the movie.
a) Textspeak

b) Doublespeak

c) Euphemism

d) Racist language

PART-B |
51, IRICEN s located at; SR @@ d

A. Pune. B. Secunderabad C. LucanW?D, New Delhi
52. ZRTI in central railway is located at; Fr&ﬁﬂﬁf{ ZRTI fRd %;
a. Mumbai. b. Bhusaval ¢. Nagpur. d. Nasik

53. National Labour day is celebrated at; IS HoTe fead HATAT ST &

a. 1 May. b. 12 December c. 15 March d. 1 June

54. RDSO is located at; 3TRSIH3N f&[qd ¢:

a.Nagpur b. Kanpur c. Lucknow d. Varanasi
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>9. RTI Act came into force from: HRENNTE srfefem & @y g3,

A. 2005. B. 2009. c. 2012. D. 2015
56.Shaniwar wada is located at; orfigR areT R B;
A Pune. B. Nasik ¢. Mumbai. d. Kolhapur

57. Who is the present Chairman and CEO railway board 3o @1 &
=0 AR 3reef 3R g3 B ¢

A V.K.Yadav b. V. K. Tripathi c. A.K. Sinha d. A.K. Lahoti

583. National Academy of Indian Railways is located at?HRdg Yeid b1
PRI HeBTEH el fed 87

£ Vadodara b. Mumbai. C. Jhansi d. Kolkata

59 Modern Coach Factory is located at; 3THfe el thersi! 2Id €;
:"L;}.T_@ )

A Raibareli b. Lucknow c. Nasik d. Vadodara

60 How Many divisions are there in central railway ?84¢et Yoid H fooa
=41 872

A 2b.3c.5d.8

61. Who is popularly known as “ Lokmanya “in Indian history?

A) Balgangadhar tilak B) Gopal krishna Gokhale C) M G Ranade
D) Lala lajpat Rai

SN
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VR SAeTT B "slamT=g %mﬁﬁsﬁmmg?

A) TR ot B) TTe w0t ey C) THST TS D) AT ATstue 1

62. Which is the highest peak of western ghats?

A) Palani hills B) Dodabetwa.
U@aﬁmaﬁmﬁaﬁﬁaﬁ?ﬁ@

C) Anaimalaj. D) Anamudi

AT feeg B)WC)WD)W

63. Who is the present governor of Maharashtra ?

A) Biswabhusan Harichandan. B) p.s Sreedharan pillai ). Thawarchand
Ghelot D) Bhagat singh koshyari :

HERTS, & JdHTT TS B 37 i
A gleed| B) divg gl fAweTE C)1 ez meetia D) g fRie
64. Before its disintegration in\\1-9_91;UKRA\INE was part of which

union ?

a) USSR b) European Union ¢) African union d) Global union
federations

1991#%%@%@%%&@@%@&1?
A) TRITHR B) T HY C) 35heht Ty D) dfedes T @y

65. Prime Minister Narendra Modi recently begin his three-da

y visit to
Europe with the visit to German capital ............. ?

A) Copenhagen b) Berlin) c) Hamburg d) Munich
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66) Serum Instit
, ute o i : _
world's largest manuieig;jlﬁethe eobnamaceyfieals gompany ard

Maharashtra 2 r of vaccines. Is in based in which city of

A) Kolhapur b) pune c) mumbai  d)nasi

. _ o) p )nasik
TWWK@W&M\WHTQEmwMﬁYWﬁWﬁW
q %W%IW%W?@‘?@H%’?

A) FIIR B) 791 C) §9¢ D) T1fes

67. Cricket world cup is organised by which governing body ?

A) ICC b) BCCI c) olympic cricket association d) IPL
fiche faed &y &7 TS b oMY e g faaT Sirt 22

A TSI B) SIRIRIT3MS C) 3Miwifues fobdse I D) 3MEHITa
638) Jammu & Kashmir isa ............ of india?

A) autonomous state b) union territory c) state d) None of the above

ST 3R BHR MRA BT ... 87

=g T YT b) ¥z oA el ) I5 d) RN H F B Tl

69 ) which river does not flows through state Maharashtra?

A) Bhima B) Godavari c) krishna D) kaveri

Fi7 Y 7S HERTS, g A BIaR T8l S8l 87
A)WB)WC)WD)W i

70) The legislature of Maharashtra composed of ......... :
A) the Maharashtra legislative assembly only

B)) the governor of mahrashtra o '
C) The legislative assembly + the Maharashtra legislative council +

governor
D) Upper house + lower house + panchayat



D. 37 & + e & + Udnad

Fom vo“\
X 71 )when did the first train started frem in India ?

A) bombay to Sholapur
B) Pune to Mumbai
C) Bombay to Konkan
D) Bombay to Thane

wﬁ%ﬁ%aﬁmg‘éeﬁ?

A. mﬁr@@w
B. Ul ¥ qag
C. 9iW Y Bldy]
D. 9T/ ¥ a[0l

72) Indian railways is divided into how many zones ?
A) 16

B)17 -

C)18

D) 15

! VIR Yo Y fober ot s TR 22

A. 16
B. 17
C. 18
D. 15

73. The largest electric Iocomotlvé manufact
in which city ? ure of the world is based

A0 Chittaranjan
B) Varanasi)

@ C) Chennai
| ™ lahalnir
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74. Where is the wheel and axle plant of Indian Railways situated?

oo w»

(A) Chittranjan (B) Kapurthala (C) Bangalore. (D) Perambur

(4) FIa%sT (B) PYRe@T (C) ITAR| (D) WRIRR

75 .Which train in India has the longest route length?
(A) Vivek Expres (B) Indrani Express (C) Kanyakumari Express
D)Bangalore Guwahati Express

Y.7d | fpd ¢ BT B ddTs Jaq @idl 8?2
A fIdae RIS B. SaT0T TeRAS C. BraTHHRT TR
D. dTeAR TATeIE! Terqud

76 General Manger is responsible for

==4) (A) Railway Board
(B) Railway Ministry
(C) Both railway Board and Railway Ministry
)) None of these

(
Hargayd ggd g fSrHeR ©

77, In todays time what is the length of Broad gauge of the railway line

A5 B55 C6. D65
31757 % TG W 6T T % FTeie Pl waTg fhal 87

4




A.5B.55.C.6.D.6.5

x /8. What is‘ the main source of earning of railway
A goods fairdave
B catering

C passenger fair foanc -
D station stalls

I BT BHTS BT HBH AT T 8
A. T | Hell

B. WHIA

C. It AeT

D. WA 'V

79.which of the following is the Mascot of Indian railway?

A') Morris , the cat
B ) Nandi ,the bull
C) Sher , the tiger
D) Bholu , the elephant

A) A1TRY, faeett
B) 7, ¥«
C) R, 9T

C) My, Braft
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81 What s t
: he value of o, If 8 is 4% of a, and 4 is 8% of b. ¢ equals b/

C BT A
AT, U8, aBT4% ¢, 31K 4, b BT 8% 21 ¢ b/a s R 2|

~

ne of these

the length of rectangle is halved and its breadth is tripled , what is
=rcentage change in the area?
/0 INcrease

\ /o Increase

C 25 decrease

D 50 % decrease

gie HATId B AG18 3TN TR & SV 3R 37hT Thers I T B S,
&3wa H faq gfaerd uRadT grm? ‘
A. 50% gfg

B 25% i
C 25 FHT
D 50% <pl BHI

83. A person crosses a 600 m long street in 5 minutes , what is his

==4) speed in km per hour ?

e Al 600 Hrex wet Ged P15 e ¥ uR HaT 8, fobrt ufd & o 37t

e T 87
A 3.6
B7.2
C 8.4
D10

84 A goods train runs at the speed of 72 kmph and crosses a 250 m
atform in 26 seconds. What is the length of the goods train?

| |
qo,ﬂ%n?arrra 70 forft i &2 Y i & Sselt & 3R 250 IR T W 3T 26
2y i R el 21 ATTTE) B e fert €l €7

£ 230 m, B)240m



C) 260 m D) 270 m

85 If a*2=12, then a*4=?a*2=12 then a*4="
e a'2= 12, @ a*4=2a*2=1 2, a*4=?

A) 144

B) 72
C) 36 D) 24
86 A father said his son , " | was as old as you are at present at the time

of your birth. " If the father age is 38 now, the son age 5 years back
was; ~ ‘

w fOT 3 31T 4 J o, " gy ST 3 e S @) 3T 4 g e
ﬁmﬁwﬂsewé,ﬁsmmaﬁﬁwaﬁ:

A) 14 ST AT
C) 33 < EID) 38R

87 Three number are in the ratio of 3 : 4 : 5 and their L.C.M. is 2400.
Their H.C.F. is:

I HEATT 3:4:5 & 311G # & 3R 37T L.C.M. 2400 | 37571 T 2.1, 3
A) 40 B) 80

C) 120 s N - D) 200

88 Which of the following fractions is greater than 3 /4 and less than 5/
6?

fAefeifad & T a1 i1 3 /4 A 927 33 5/6 A e 22

A)3/5 B)4/5
C)71/5 D)9/5

i» l-k 89 Convert 0.6 into a fraction:

.

N —
AN
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B) 43
D)25 Noue. oy Llate cbone

@}W

90 A man took loan from a bank at the rate of 12% p.a. simple interest.

Aﬁer‘3 years he had to pay Rs. 5400 interest only for the period. The
Principal amount borrowed by him was:

U AR Y U §F 129 TIfet I &Y R A Ko7 A7) TR @St 3 AT
a4 T 3 BU BT T BT T e 379 b fAY 5400 TST| 376 GRT

gg@}.ﬁ{fﬁr}[ﬂga\?ﬂ'?-l—fgfeﬁi '

A Rs 2000 B) Rs.10000

C' Rs.15000 | 5 D) Rs.20000
97. Shoe

/ e

¢ tther

(  .ces

' tking

E JAel

( |

(AT
Auseum is related to Curator in the same way as Prison is related

£ onager
f sritor

( 1or

r irden

21 BT W e & I JBR & o YBR BRITR BT Jrai 2.
P |




B
C. SleRR
D

03. Moon : Satellite : : Earth : ?
A. Sun

B. Planet

C. Solar System

D. Asteroid

TeHT ; 3YUE ; : gedl : ?

. . IR HoTTe]
' 94.Complete the series 3,7,23,95,7

O O W »F
=

G 3, 7, 23, 95, ?
A 62

B 128

C 479

BRSWES

95 .Gravity is related to pull in the same way as Magnetism is related
to;

A. Repulsion

B. Separation

C. Attraction

D. Push
| THATBYUT BT HaH 3HT YBR H & ST Ydbed T HeH &;
A. Hfdedo
B, QeeREIuT
% C. HTBYT

96 Communicable disease : Malaria :: Non-communicatle disease
A. Tuberculosis = Ulotase
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T .,q,‘:t .. N \
R =t ggm AT 2
| »_'TTT
T T
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SCD, TEF, UGH, , WKL

A, CMN

B) UJl

C'VviJ
~3D IGT

gu Tanya is older than Eric.
Cut 1s older than Tanya.

Er.c s older than ClIiff.

Ii he first two statements are true, the third statement is

g1 T J Fel &

1 7 araT § 98l &

ol faerp 9 98T Bl
a';:@ﬁaamm%‘“,mmaméz
a! True

/2N
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b) False
c) Uncertain
d) None of the above

100
FAG, GAF, HAI, |AH,

A )JAK )
B )HAL
C )HAK
D )JAI

Part c: Rajbhasa

101.f&& G WA ST &; 2=
a. 14 fadeR b. 15 f&daR1 c. 6 W1 D. 15 AT

102 RERT T BT TTBTR HIHT & B0 & T gRT fehdy Ar=gar ured & 7
A8 31 # aftta sl # 4 v B.fEd

C.I&pd. D.3iUs

103 MRd B IS € -

AfRS Baiel cfETasimsl. DEAR J B A8
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104 YRR Gfdym T o5 el 'ﬁmw@%ﬁmﬂﬁmw
A 343-351 A, B.434-315 o, C.443-135 a. D.334-163 7P

1053 frﬁuwa?raﬂazﬁyg;@ﬁq@ﬁaaﬁ?ﬁ‘rmﬁﬁﬁ??

A v, B.18. C.22. D.16

106 vﬁm$%ﬂy@z¢mﬁ%ﬁﬁw%wﬁmwﬁm

T g ?

T®

b

A e 348 (i) B.3TIESE 346 (i). C.31gea 343 (i) D.31gew< 345 (i)

11 7"ﬁﬁuﬂﬁ8ﬁﬂgﬁfﬁﬁﬂﬁﬁﬂw3ﬁﬁﬁﬁﬁﬁﬁﬁ@ﬁ?-ﬁm
& 2 grel gaiae € ?

A T, B.ORTAY. C.ART8T. DAGT
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